MAP 4175/ 5177 Name:
Test 3 Date: September 21, 2016

Each problem is worth 10 points. Show all work for full credit, and use correct notation.
Simplify answers completely. See other side for additional problems.
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1. Given .q, = —, determine

(@) eso

(b) ugo

2
. 90—x—-t .
2. Given p, = (m) , determine

(@) Uao

(b) eso



3. Given l, = 1000(0.90)*, determine ,,q3,

.03 if30<x <60

06 ifx>60 -determing 4opss

4. Given pu, = {

5. Use ILT assumptions to determine (round answer to the tenths place)

(a) 1000 - (10‘125)

(b) 1000 - (5|1OCI20)



